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e Quarterly Examination - 2023
gL MATHEMATICS Mirks 1R
PART - |
Choose the correct answer 14x1=14
1 :\‘T‘:) i'oc;gt-‘df‘ealauous from a setA= (1,23, 4, 5)t0sel B, then the number of elements in B
2 Ifthe ordered palrs (a + 2, 4) and (5, 2Za+b) are equal then (a, b) is
a)(2,.-2) b)(5.1) ¢)(2,3) d)(3,-2)
3 Iff A — Bisabiective function and if n(B) =7, then n(A) is
a)7 b)49 c)1 d)14
4 Using Euclids division comma, if the cube of any positive integer is divided by 9 then the possible remainders
are a)0,1,8b)1,4.8 ¢)0,1,3 d)1,3,5
5. GivenF =1, F,=3 andF =F ,+F _thenF, -is
a)3b)5c)sd)n
& The least number that is divisible by all the numbers from 110 10is
a) 2025 b) 5220 c)5025 d)2520 , , :
7 Which of the following should be added to mate a‘ + 64 perfect square
.. a)4x‘ b)16x* c)8x’ d) —Bx*
(8, If (x - 6) is the HCF of x* — 2x — 24 and x"— kx -~ b, then value of k is
.. a)3b)5c)6 d)8
‘9. The solution of (2x - 1)? =9 s equal to
a)-1 b)2 ¢)-1,2 d)none of these
10. Graph of a linear equation Is
a) straight line b) circle ¢) parabola d) hyperbola
11 In ALMN, ZL=60° ZLM=50°, ALMN - APQR then value of LR is
a) 40° b) 70° c) 30° d) 110° s
12. The poinlofintersectlonof:ix-y:dandx +y=8in
~. a)(5,3) b)(2,4) )3 5) d)(4.4)
13 The slope of the line which is perpendicular toa line joining the points (0, 0) and (-8, 8) is
~ a)-1b)1 c)1/3 d)-8
14, If x = a tanf and y = b secf then
2 2 2 2 2 2 - S
x_2=1 b) LSS M c) z;*— =1d) :—2“'—=0
PART - Il
Note : Answer any 10 of the following. Question No.28 |s compulsory. 10x2=20
15. IfA={1,3,5), B={2 3} then find Ax B and BxA.
16. If function f(x) = x? — 5x + b then find the value of 1(2)
17. 1113824 =2*x 3" thenfind aand b.
18. If x, 10, y, 24, z are in Arithmelic progression then find the value of x, y and z
19. 119, 3, 1, ....are in G.P, then find 8" term.
20. Find the sum of 3, 7, 11... upto 40 terms.
21. Find the LCM of 9a* b®, 12a°b’c.
X:’ YJ
22 Simplify : xt; : y_»—x
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. Prove that \‘ A= s]nu

L HA=(x & N/1<x<4},B=(xeW105x<2}.C=(x €

; s andy=

Datermine the nature of root of the equation gx'-24x+16=0
Solve &+ + 2x — 2 =0 by formule method.
Find the siope of the siraight ling jaining (-6. 1) and (-3. 2)

1+sinil
— = secH + lant
Find the slope and y-interceptof 3 x+(1- J3ly=3

Iff{x) =« - 1.g(x)=x—2.ﬁnda.dgol(a)=1
PART - Il
10x5=50

Note : Answer any 10 of the following. Question No.42 Is compulsory.

N / x < 3) then verify that
Ax(B " C)=(AxB)n (AxC)
Let f * A -» B be a function defined by f(x) =
'Represent f by 1) se! of ordered pairs 2) table 3)an arrow diagram 4)a graph

Pind o, iy 43ge) = g f4hcx) , 2)= 3% | .g(x)>0y3

X wheraA= (2 4.6, 10,12, B=(0,1.2.4,5.8)
2

. Theratioof 8" and 8 tem of anAPis 7 g Find the ratio of 9" and 13" term,

If d is the highest common factor of 32 and 60 Find x and y satisfying d = 32x + 80 y
Find the sum of 15 + 16° + 17+ _ « 2&°

a‘+3a-4 a°-2a-8 " L =
- 2a7 20 'hen find the vaiue of X'y

Find the square root of 37x* - 28x + 4x* + 42x + 9.

Solve 3x-2y+z=2 2x+3y-2z=5 x+y+2=6.

State and prove basic proportionality theorem

Find the Area of quadrilateral whose vertices are (-9, -2), (-8,-4).(2, 2) and (1. -3)

Aline makes p‘g_qme intercepts on coordinates axes whose sum Is 7 and It passes through (-3, 8) Find

its equation \,\'\,

3tand - tan’ 0
{ .2 sinf - : thatlan 30 = =
It J3 sin® — cos = 0, then show - 3tan’ @

If « are ] the roots of the equation 2¢* - x ~ 1 = 0, then form the equation whose roots are a’fl, f'a

PART - IV ‘
Note : Answer all the questions. 2x8=186

a) Construct a tnangle similar to a given triangle with its sides equa! to -:- of tha corresponding sides of

the tnangle AABC. (scale factor -:‘ >1)

(OR)

b) Constructa APQR such that QR = 6.5 cm. /P =60° and the altitude from P to OR s of iength 4 5 cm
a) Abus is travelling at a uniform speed of 50km/hr. Draw the distance - time and hencs find,

'] The constants of variation 2} How far will it travel in 1% hr  3) The time required to cover a distance
o 300 km from the graph. (OR)

0 Draw the graph of xy = 24, x, y > 0 using the graph find 1) y when x =3 2)rwheny=86
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" QUARTERLY EXAMINATION - 2023

CLASS : 10 ; A Reg. No. :
TIME :3.00 Hrs. B o M T"EMAT|CS MAX. MARKS : 100
I. Choose the best Answer. 5 g | ‘ 14x1=14
1. If there are 1024 relations from a set A={1,2,3,4,5} to a set B, then the number of elements in B is-
a) 3 b)2 - c) 8 d) 4 '

2. Let n(A)=m and n(B)=n, then the total number of non-empty relations that can be defined from
AtoBis

a)m" b S e)2ma d) 2m™

3. If f:4°% B is a bijective function and if n(B)=7, then n(A) is equalto * -
a)7 - b)4Y s 5. % Byl . - @) 14

4. The sum of the exponents of the prime factors in the prime factorization of 1729 is
al - : b) 2 & @3> sl e

5. Given F,=1, F,=3and F,=F_ + F, then F,is IR
a3 RS c) 8 s e T

§ Thewloeof (13+23+33+ ...... :;.+'153)-,(1+2+3;.'....+15) is ,
a) 14400 - T b)14200 ©¢) 14280, . d)14520

7. If (x—6)isthe IICF of x° —2x—24 and x*—kx—6 then the value of K is

a) 3 : Byg o )6 A8
s . 4 2 R WL N N Y ) : i
a-b. b -a ot g v : _
a)a-b ~ b)atb <o HED 0 d), g —b_2 - d1
9, Graph of a linear equation is'a ............: e e ! _ Fa
a) straight line ~ b)Circle =~ . _ c)Parabola d) Hyperbola
10. If in triangle ABC and EDF, 4B _ BC then they will be similar when
| o DE FD _ . _
2 [B=[E plash . ole=lo g lA=|F

11.Ina A ABC, AD is the bisector of Z'BAC .If AB=8cm. BD=6cm. and DC=3 cm. The'lcngth
of the side AC'is : i

a) 6em » b)4 cm "~ ¢)3cm d)8cm
A2 I8 G, (S,p) and (6,6) are collinear, then the value of P'is
"a)3 o " b6 09 d) 12
; 13. The slope of the line which is perpendicular to a line joining the points (0,0) and (-8, 8) is
5 T b1 ¢) 13 d-8 °
o3 : M.Poovarasan M.Sc B.Ed .
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14. (2,1) is the point of intersection of two lines.

a) x—y—-3=0;3x-y-7=0 b)) X+y=3,3x+y=7
©) 3x+y=3;x+y=7 d) x+3y-3=0; x-y-7=0
I1. Answer any 10 questions. (Q. No. 28 is compulsory) 10x2=20

15.Let A= {1,2,3} and B= { X1 X,is aprlme number less than 10 find AxB and BxA

16. Let X ={1,2, 3 4},and y={2,4,6,8,10} and R={(1,2), (2,4) (3,6) (4,8)} show that R is a function
and find its domain, co-domain and range ?

17. Find K If fofiK)=5, where f(K)=2K-1.

18. Show that the squaré of an odd integer is of the form 4q+1 ; for some integer q.

19. Find the least number that isdivisible by the first ten natural numbers.

20. Compute X, Suchthat 10* =x (mod19)

21. If 3+K, 18-K, 5K+1 are in A.P. then find K. '

22. Find tﬁc c7fcludcd valucs, if any of the folIoWing cxprcssion —2—{—23 ; i}

| 58 6tv— 12 g '

23.Slmphfy 41 8 10t

24. Dctcrmme the nature of the roots for the quadratic equation \/— 2t° =3t + 3J— 0 .
25.In A ABC, D and E are points on the sides AB and AC, such that DE/BC. If
AD=8x-7, DB=5x-3, AE=4x-3 and EC=3x-1 find the value of x.
26. Show that the given points are collinear (-3. -4), (7,2) and (12,5) .
=5
27. Find the equation of a line passing through the point (3,-4) and having slope 7

28. A function f is defined by f (x)=3-2x find X such that f (x*)=( f (x))2

i Answer any 10 questions. (Q.No.42 is compulsory) 10x5=50

29.Let A={xeN/1<x<4}, B={xew/0<x<2} and C={x € N/x<3] Then verify
thatAx(BﬂC) (AxB)ﬂ(AxC)
x+2 ;5 x>1

30 If the function / is definedby S(*)= § 2 3 “1=X<! find the value of
x—=1 ; -3<x<-1

Nf(3) i) £(0) @) f(-1.5) ) f(2)+ f(=2) '
31. Consider f(x)=x’,g(x)=2x , h(x)=x+4 show that (fog)oh = Jo(goh) .

32.1f p x pi* x pP x p{* 113400 where P,» P, P, P, are primes in ascending order and
X,» X, X;, X, are integers find the value of p,,p,,p,,p, and x,,X,,X,.x, .

‘ '33 F md the sum of all natural numbers between 300 and 600. Whlch are divisible by 7

3 o _10th Muhn Qtly-NMK- -Page-2



34. Rckha has 15 squarc colour papers of sizcs 10 cm, 11 cm, 12 cm, ............ 24 cm. How much arca can
be decorated with these colourpapers? ' ~

35.Solve: X+y+2=5; 2x—y+2=9;x-2y+3z=16
: 2x+1 2x-1 1 2B

A= B= .
36. If 2x—-1* 2x+l find A-B A2—32 .

37. Find the square root of 64x4—16x3+17x2 2x+1.

38. A girl is twice as old as her sister. Five years hence, the product of their ages ( in years) wﬂ] be 375. Find
their present ages. . ;

39. - State and Prove Basic Proportionality Theorem.
40. Find the area of the quadrilateral whose vertices are at (-9, -2), (-8,-4),(2,2) , (1,-3).

41. A(-3,0), B(10, -2) and C(l?.. 3) are the vertices of AABC . Find the equation of the attitude through
Aand B.
91

42. The pmduct of three consecutlve terms of a Geomemc progression is 343 and thetr sum is
Find the three terms. ‘ 3

IV. Answer the following questions. - ‘ 2x8=16
43. Construct a triangle similar to a given triahgle A PQR with its sides equal to -;l of 'the corresponding

sides of the triangle PQR (scale factor 7 _ 1) '

3
- (or) , ;

Construct a APQR which the base PQ=4.5 cm, ZR =35° and the medlan RG fromR to PQ is 6 cm.

44. Graph the following linear function ¥ = -2—x Identify the constant of variation and verify it with th
graphalso (i) Find y when x=9 (ii)Find X when y=7.5
A (or) ' : .
Draw the graph of xy = 24, X,y > 0 using the grapt ﬁnd (i) ywhen x=3 (i) x when 12,

PG ASST |N 'CHEIVIISTRY
Dharmapuri District
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COMMON QUARTERLY EXAMINATION - 2023

A : Standard X Regho[ [ T T [ 1]
' MATHEMATICS
Time : 3.00 hrs Part -1 Marks : 100

.Choose the most suitable answer from the given four alternatives.

14x1=14
1. Ifn(AxB)=6andA={1, 3} thenn(B)is ,
a) 1 b) 2 c) 3 d) 6
2. Iff(x)=2x2and g(x) = 51— then fog is : ,
a) 5?(-2— b) 5.z c) é d) —6%2—
3. If n(A) =p, n(B) = g, then the total number of relations that exist from Ato B is
a) p9 b) qP c) 2°P4—-1 d) 2ra

4. The sum of the exponents of the prime factors in the prime factorization of 1729 is
a) 1 b) 2 e 3. - ¢ d) 4

5. AnA.P consists of 31 terms. If its 16" term is m, then the sum of all the terms of

this AP is
“a) 16m b) 62m c) 31m d) 2 m
i £ -4 & ,
6. The nextterm of the sequence S G TG TG e is
1 i L &) — 4 =
a) 1 ) 16 18 ) 20
7. The solution of the system x +y—3z2=-6,-7y.+7z2=7 3z=9is
a) x=1,y=2,2=3 " b) x=-1,y=2,2z=3
c) x=-1,y=-2,2z=3 d) x=1y=-22=3
3y-3 W=7
8 y b 3y? IS "
7 21y - 21
. 21y — 42y 7y? - 2y 4
g ¥’ -42y.21 d) [y 2y 1)

3y y’




10.

1t

12

13.°

14..

256 x8 y4 710
. The square root of Y

2 X MATHEMATICS

5 x6 y6 26 is equal to

24 ' 2 v | 16
2 55| bl g 255
Ifin A*ABC, DE||BC, AB=3.6 cm,AC=2.4cmand AD = 2.1 cm, then the length
of AE is .
a) 1.4cm b) 1.8cm c) 1.2cm d) 1.05cm
Ina AABC, ADis the bisector of /BAC. IfAB=8cm, BD 6cmandDC=3cm.
“ The length of the side AC i is
a) 6cm - b) 4cm c) 3cm d) 8cm
The arc of triangle formed by the points (-5, 0), (0,-5)and (5, 0) is
a) 0 $q.units b) 25 sq.units
C) 5sq.units

d) none ofthese

The slope of the Ii_nejoining (12,3), (4, a)is % . The value of ‘3’ is
a) 1 |

b) 4 c) -5 d) 2
If(sin6 + cosB) =a and (seco + cosech) = b, then the value of b(a2-1)is equalto
a) 2a b) 3a ¢ 0 d) 2ab '
Part-11 -
. Answer any 10 questions. 10x2=20
(Q.No.28 is compulsory)

=18,

"16.
17.

18. ¢
19.
20.
21.
22.

23.

A relation Ris given by the set {(x, y) ly=x+3 xe {0.1 .2.3.4}5\}}; Determine its
domain and range. . .

IFAXB={(3,2),(3.4),(5,2), (5, 4)} then_ﬁndAand B.
LetX={1,234}andY = {2,46,8,10yandR =

{(1.2), 2,4y, (3, 6). (4,8)
Risa function and find its domain, co

}. Show that
-domain and range
a'and b’ are two positive intégers such that ab x b =

Find the least positive value of x such that 71 =
Find the 19" term of an A P+ —11, -15,-19,
Find the 8" term of the G p - 9,31
Find the LCM of 4x2y 8x3

800 Flnd a and b»
x (mod 8)

2 :
b
Find the square root of 256 (x — a)® (x—b)* (x — )6 (x — )20



24.
25.

26.
27,
28.

.
29.

30.
31.

32.
33.

34,
35,
36.

a7,
38.

39.
40.

41.

42

, 3 ‘ X MATHEMATICS
x2+x—12 =0, Determine the nature of roots of this equation.

If AABC is similar to ADEF such that BC = 3 cm, EF = 4 cm and area of
AABC = 54 cm?. Find the area of ADEF. '
Show that the given points are collinear: (-3,-4),(7,2)and (12, 5)

Prove that tan20 — sin20 = tan20 sin20

Find the area of the triangle whose vertices are (-3, 5), (5, 6) and (5, —2)

Pl Part-1ll :
Answer any 10 questions. 10x5 =50
(Q.No.42 is compulsory) :

LetA={x e W/x<2},B={xe N/1<x<4}and C = {3, 5}, verify that
Ax(BuC)=(AxB)uU(AxC)

f(x) =x—1, g(x) =3x.+ 1 and h(x) = x2. Show that (fog)oh ="fo(goh)

Use Euclid's Division Algorithm to find the highest common factor of 84, 90 and
120.

Find the sum of n terms of the series 5+55+555+...............

Rekha has 15 square colour papers of sizes 10cm, 11 cm, 12cm, ...... , 24 cm.
How much area can be decorated with these colour papers?
Solve:x+y+z=5; 2x—-y+z=9;, x-2y+32=16

Find the square root of 64x* —16x3 + 17x2 — 2x + 1

A bus covers a distance of 90 km at a uniform speed. Had the speed been 15 km
/ hour more it would have taken 30 minutes less for the journey. Find the original
speed of the bus.

Find the area of the quadrilateral formed by the poirits

(8, 6), (5, 11), (-5, 12) and (-4, 3) o

State and prove Basic Proportionality Theorem.

Show that the points (-2, =1), (4, 0), (3,:3) and (-3, 2) are vertices of a parallelogram.
Aline makes positive intercepts on coordinate axes whose sum is 7 and it passes
through (-3, 8). Find its equation.

1 +sin0 Y
Prove that \/};g[ﬂ 4 A2 “—— = 2secl
1-sin0 14sin0

Letf:A - B be a function defined by f(x) - g -1 whereA={2,4,6,10,12),

B={0,1,2,4,59) Represent fby
1) asetofordered pairs i) atable
i) an arrow diagram ' iv) agraph



IV. Answer all the qﬁestions.

43. a)

b)

' 44. a)

_b)

4 X MATHEMATICS

Part-|1Vv
2x8=16

Construct a triangle similarto a given triangle LMN with its sides equalto ¢

of the corres sides of t_he triangle LMN. (scale factor g <1)

(OR).
Constructa triangle APQR such that QR =5cm, 4P =30%and the altitude
from P to QR is of length 4.2 cm.

A garment shop announces a flat 50% discount on every purchase of items

for their customers. Draw the graph for the relation between the marked price

and the discount. Hence find

1) The marked price vyhen acustomer gets a discount of ¥3250 (from graph)
i) The discountwhen the marked price is 12500

| (OR)
A company initially started with 40 workers to complete the work by 150 days

Later, It decided to fasten up the work increasing the number of workers as

"shown below.

Number of workers (x) 40 50 60 5

Number of days (y) 150 120 100 80

i) Graph the above data and identify the type of variation

i)  From the graph, find the number of days required to complete the work if
the company decides to opt for 120 workers.

i) If the work has to be completed by 30 days, how many workers are

required?

LR



10 -smo

Time : 3.00 Hrs

QUARTERLY EXAMINATION - 2023 {
MATHEMATICS LI

Marks : 100
I Answer all the questions. ' 14X 1= 14‘
1. A={ab,p}, B ={2,3}, C={p,aq,ns} then n[(AUC)XB]is
a)8 b) 20 c) 12 d) 16
2. Domain of the function f(x) = %H is '
a) Z- {1} b) R - {1} )R -{-1} d) Z - {1}
3. f(x) =(x+1)-(x- 1)’ represents a function which is
a) linear b) cubic c) reciprocal ~d) quadratic
4.  Using Euclid’s division lemma, if the cube of any positive integer is divided by 9 then the possible
remaindersare a)0,1,8 b) 1,4,8 c)0,1,3 d)1,3,5
- 5 If m = ab, n = am? then the GCD and LCM of (m,n) are
a) (m,m) - b)(n,n) c) (n,m) d) (m,n)
6. AnA.P consists of 31 terms. If its 16 term is m, then the sum of all the terms of this A.P is
a)i6m  b)e2m ©  o)3im , d) Lt m
7.  Thevalue of (13+23433+............ +153)-(1+2+3 +........ +15)is |
a) 14400 . " . b)14200 c) 14280 ‘ d) 14520
8. If (x - 6) is the HCF of x? - 2x - 24 and x? - kx - 6 then the value of k is
a)3 b) 5 g} 6 d) 8 '
9.  The solution of (2x - 1)2= 9 is equal to, a)-1 b) 2 c) -1,2 . d) none of these
10. The number of points of intersection of the quadratic polynomial x2 + 4x + 4 with the x axis is
a)o b)1- c)Oori : d) 2
11. Allthe non - diagonal elements in any unit matrix are
a)l . .b)o c) positive - d) negative
12. The perpendicular bisector of a side of a triangle and the angle bisector of the angle’opposite to
that side meets at a) circum circle b) incircle  c) ortho centre d) centroid
_13.  Two poles of heights 6m and 11 m stand vertically on a plane ground. If the dlstance between
their feet'is 12m, what is the distance between their tops?
a)i3m b) 14 m 3 c)15m d) 12.8m
14. The two tangents from an external points P to a circle with centre at O are PA and PB. If
£ APB = 70° then the value of /AOBis a)100° b) 110° . c) 120° d) 130°
IO  Answerany 10 of the following. Question No. 28 is compulsory. 10X2 =20
15. Represent the relation {(x,y) / y = x + 3, x,y are natural numbers < 10} by
i) an arrow diagram i) a set in roster form
16. IfA={-2,-1,0,1,2} and f: A—>Bisan onto function defined by f(x) = x? + x + 1 then ﬁnd B.
17. Prove that two-consecutive positive integers are always coprime. .
: n(n+3); neN is odd
i . . a" = "
18. The general term of a sequence is defined as 4 1; neN is even find the
eleventh and eighteenth terms.
19, If13+429+4 33+ ......00.0e + k’=44100thenfind 1 + 2 + 3 + ....... + k.
x-11x +18
20. Reduce. the ratlonal expression o = s its lowest form.
21; Determine the nature of roots for the following quadratic equation 2x2 - 2x + 9 = 0.
22. Write the followiﬁg expression in terms of a + # and af %ﬂ’+%a ;

FTS 10 @anfzb (EM) Page -1



4

23,

24,
25.

26.

27.
28.

29.

30.

31,

~ 32,

) 33.

34,
35.

36.
37.

38.

39.

40.
41.
42.

43.

44,

f

a-b 2a+c 15 1
Find the value of a,b,c,d from the equation (5, 3., /1% (o 2) "

A‘ (o 49 pof7-38 '
If 8 37 = 1 4 9J find the value of B-5A., .

If AABC Issimilarto Apgf such that BC = 3 cm, EF = 4cm and area of AABC =54cm? Find
the area of ADEF . ' 5

A man goes 18m due east and then 24m due north. Find the distance of his current position
form the starting point? : '

State : Alternate segment theorem.

IfA ={1,2,3,4} and B = {6,9} write the function f from A to B such that

f = {(x,y) / difference between x and y is odd, xeA, yeB)} in roster form

Answer any 10 f the following. Question No. 42 is compulsory. 10X 5=50
LetA = {xew/x < 2}, B = {xeN/ 1< x < 4} and C = {3, 5} verify that
AX(BuUC)=(AXB) U(AXC).

x+2; x>l
If the function f is defined by f(x)=4{ 2; -1€x51
; x-1; -3<x<-l
1y £(3) 1) f(0) 1) f(-1.5) Iv) f(2) + f(-2)
If f(x) = 2x + 3, g(x) = 1-2x and h(x) = 3x.-Prove that fo(goh) = (fog)oh.
Find the greatest number conslisting of 6 digits which Is exactly dlvisible by
24,115,367
The sum of first n, 2n and 3n terms of an A.P. are S,, S,and S, respectively. Prove that S, = 3

find the values of

(S, - S)).

Find the sum of the Geometric serles 3 + 6 + 12.+ ......... + 1536.
Solve the following system of linear equations in three variables. -
X+y+z=5; 2x-y+2z=9;x-2y+3z=16.

Find the square root of 64x* - 16x* + 17x? - 2X + 1

A bus covers a distance gf 90km at a uniform speed. Had the speed been 15km / hour more it
would have taken 30 minutes less for the journey. Find the original speed of the bus.

) (=2x) (5
Solve for x,y : y; + 2 -y =gl
2 -1

12 1) p=|-14 L
1f A= ; show that (4B)" =B".4".
2 -1-1
0 2 :
State and prove Thales theorem. .
Show that the angle bisectors of a triangle are concurrent.
If 5, 12* and 15" terms of an A.P are x,y,z respectively then find the value of 3x - 10y + 7z.

Answer all the questions. IX8 =16
a) Draw the two tangents from a point which is Scm away from the centre of a circle of
diameter 6cm. Also measure the lengths of the tangents. (OR) o
b) Construct a APQR which the base PQ = 4.5cm, /R = 35%and the median from R to RG is 6¢cm.
a) Discuss the nature of solution of the following quadratic equation x2 - 9x + 20 = 0. (OR)
b) A garment shop announces a flat 50% discount on every purchase of items for their customers
Draw the graph for the relation between the marked price and discount. '
i) the marked price when a customer gets a discount of Rs. 3250 (from graph)
ii) The discount when the marked price is Rs. 2500.

FTS 10 safzib (EM) Page -2




! QUARTERLY EXAMINATION- 2023

CLASS :10 MATHEMATICS ENEREEN
MARKS: 100

TIME : 3.00 hrs

PART - 1

I Note : i) Answer all the questions. ii) Choose the most appropriate

answer from the given four alternatives and write the option code on
14 X1=14 .

the corresponding answer.
If {(a,8), (6, b)} represents an identify function then the value of a'and b are

1.
respectively s
a)(8,6) . b) (8, 8) c) (6, 8) d) (6, 6)
2. Iff(x) = 2x2 and g(x)= 3 then fog is. ;
3 g 2 ;
e e . e d)i=—5
?) 257 b) 32 ©) 92 ) 6

3. . The HCF of numbers of the form 2M ana 3N s
a) 1 . b)) 2 * -

s..are in G.P then 2a, 2b; 264 arein ... »

b) Geometric progression

)3 d) 2M and 3N

a) Arithmetic progressidn : .
c) Arithmetic progression an Geometric progression

- d) None of these
The values of a and b if 4x4 - 24x3 + 76x2 + ax + b is a perfect square are

T
a) 100, 120 b) 10; 12 . €)y-120, 100 - d) 12, 10

6. If 3 \[y=9 then the value OF XIS iviests; _
a)3 b) 9 : €) 18" . d) 27

7. If AABC is an isosceles trianglé with £C= 90° and AC = 5 cm, then AB
I8 gy emanras N FOR R ' '
a)2.5cm b) 5cm c) 10 cm d) 5\/5 cm

8. A tangent is perpendicular to the radius at the

b) Point of contract ~ c) infinity d) chord

a) Centre
9. The straight line given by the equation x = 11 is

a) parallel to x axis b) parallel to y axis
- €) passing through the orgin d) passing through the point.(0,11)
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10.

1.

12,

13:

14,

II

15,
16.

17

18.

19.
20.

21,

22,

e

The slope of the line which is perpendicular to a line joining the points (0,0)
and (-8,8) is

: 1
a) -1 b) 1 c) 3 d) -8
‘7
If the given hne— = X - p is passess through the point (4 -4) then the value
of Pis ... a) -4 : b) -6 c) 0 .:d):8

Euclid’s division lemma states that for positive integers a and b, there exist
unique integers q and r such that a = bq + r, where r must satisfy

a)l<r<b b0 <£€r<h oL r<h d)o<r<b

If (x-6) is the HCF of x2 - 2x - 24'and x2- kx - 6 then the value of k is
a) 3 b) 5 06 d) 8
If X = atan0 and y = b seco then ‘

2 2

)2 -2 )
S - =1 ") g ==l
b* . gt b b-
2 2 ' 24 2 .
% 9 i -
;i e , : .d)a b*
PART - IT 10X 2 = 20

Note : Answer any 10 queétibns. Question No.28 is compulsory.

If A= {1,3, 5} B = {2, 3} then show that n(A X B) = n(A) X n(B).
Represent the function f = {(1, 2), (2,2), (3 2),:44, 3); (5; 4)} through (i) an
arrow diagram (ii) a table form (iii) a graph

If f (x) = 2x°1, g(x) = "—H Show that fog = gof = x.

2
Find the greatest number that will divided 445 and 572 leaving remainders 4 and 5

respecti\)ely
Compute x, such that 104 = x (mod 19)

If 3+k118 -k, 5k + 1 arein A.P then find k.
x+10
Find the excluded value of the expression T
*

i

Determine the quadratic equations, whose sum and product of roots are

and -4 respectively. FT1 10 mewflsib EM PAGE-2



23.

24,
25.

26.

27

28.

29.

30.

i,
32.

33.

34,

35.

36.

_ 1444 b '
Find the square root of 81./'” g" PO

If @and Bare the roots of x2 + 7x+10 = 0 find the value of & + %,

If AABC is similar to- A DEF such that BC = 3cm, EF = 4 cm and area of
AABC = 54cm? find the area of A DEF.

1+
Prove that ,"COSQ = cosecl +cot@
1-cos@

Find the area of the triangle whose vertices are (-3,2) (-1, 1) and (1,2)..
Find the rational form of the number 0.6666 ..... v

PART - III

‘Note: Answer any 10 questions.

Question No.42 is compulsory. o 10 X 5 = 50
Let A= {xew/x<3},B = {xeN/1l<x< 5} and C = {2,5} verify that
AX(BUC)=(AXB) U (AXC) ° '

2x+7 -y x<=2

¥ =2, =2<x<3
13x-2 , x>3

If the function f : R --->R is defined by f (x)= then find

the values of 1) f(4) i) f(-2) i) f (4) + 2f(1) iv) o> @)

‘ f(=3)
Find the HCF of 396, 504 and 636.

s 2 St 3n 2
In an A.P the sum of first n terms is & + re Find the 17t term.

In a G.P the 9*" term 32805 and 6" term is 1215. Find the 12th térm.
Discuss the nature of solutions of the following system of equation.
X+2y-z2=5;x®-y+2z2=-2-5x-4y +z=-11

Find the square root of xl_t 12x3 + 42x2 - 36x + 9.

State and prove the Thales theorem. FTJ 10 sewfisib EM PAGE-3




37
38.
39,
40.

41.

42.

43.

44.

Find the area of the quadrilateral formed by the points (8, 6), (5, 11) (-5, 12)
and (-4, 3)

Without using Pythagoras theorem show that the points (1,-4), (2, -3) and
(4, -7) form a right angled triangle.

A (-3,0) B (10,-2) and C (12, 3) are the vertices of AABC. Find the equation of
the altitude through A and B. :

If cosg+sing = [z cosg. Prove that cos@ - sing = J2sing .

If f(x) = x -1, g(x) = 3x+ 1 and h (x) = x2 show that (fog) oh = fo (goh) .

If the roots of the equation (c2-ab) x2 - 2 (a2-bc) x + b2 - ac = 0 are real and
equal. Prove that either a=0 (or) a3+b3+c3 = 3abc .

PART - IV

Note : Answer all the questions. 2X8=16
a) Construct a triangle similar to a given triangle ABC with its sides of the

6
triangle ABC (Scale factor 35 >.1);.. .
s | (OR) A

b) Draw a triangle ABC of base BC= 8 cm, z4= 60° and the bisector of
~ 4 meets BC at.D such that BD = 6cm.
a) Draw the graph of xy = 24 x,y > 0. Using the graph find (i) y when x=3 and
(ii) x when y = 6.

. (OR)
b) Varshlka draw 6 cnrcles with different sizes. Draw a graph for the relationship

between the diameter and circumference (approx1mate|y related) of each circle
as shown in the table and use it to find the circumference of a circle when its

diameter is 6 cm.
1 2 ' 3 4 5
12.4 15.5

Diameter (x) cm

Circumference (y)cm 3.1 6.2 9.3

—— A A 0.2 CRA NA -~
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Tenkasi District '
Common Quarterly Examination - 2023 I J J I j J

4&-D9-RDR3  standard 10

Time: 3.00 Hours MATHEMATICS Marks: 100
Part- A
Note: i) Answer all the questions. 14x1=14

. IL

ii) Choose the most suitable answer from the four given alternatives
and write the correct option.

1) Ifthere are 1024 relations from a Set A = {1, 2, 3,4, 5} to a Set B, then the
number of elements in B is . _
a)3 b) 2 c) 4 d) 8
2) If f: A— B is a bijective function and if n(B) = 7, then n(A) is equal to
a)7 b) 49 c)1 d) 14
3) Is composition of three functions associative?
a) Sometimes true b) Always true c) Never true d) Not defined
4) If the HCF of 65 and 117 is expressible in the form of 65m -117, then the
value of 'm' is
a) 4 b) 2 . o)1 "d) 3
5) Thevalueof (13 + 23+ 33+ ...+ 153) - (1+ 2+ 3+ ...+ 15)is ........
a) 14400 b) 14200 ° c) 14280 d) 14520
6) The sequence [11,[55,5[11,5[55, 25l11......1s
a) A.P b) G.P
c) both A.P and G.P d) neither A.P nor G.P
ol I B
7) Y+? is not equal to ...........
y'+1 Ki 1Y 1Y
a) % b) Y+7 c) Y—7 +2 d) Y+7 -2
8) which of the following should be added to make x* + 64 a perfect square
a) 4x2 b) 16x? c) 8x? ‘ d) -8x2
. x> +x* —10X +8
9) The number of excluded values of 7 > IS swwuwwen s
, x* +8x° -9
a) 2 b) 1 c) 3 d) 4
10) If AABC is an isoscles triangle with|C =90° and AC = 5cm, then AB is
a) 2.5cm v b) 5cm c) 10 cm d) s5\/2cm
11) InAABC, DE || BC, AB = 3.6cm, AC = 2.4cm and AD = 2.1 am then the length of AE is
a) 1.4cm b) 1.8cm c) 1.2cm d) 1.05cm
12) If (5, 7) (3, P) and (6, 6) are collinear, then the value of 'P' is .........
a)3 b) 6 . c) 9 d) 12
13) If slope of the line PQ is ﬁ then slope of the perpendicular bisector of PQ is
1
a) I3 b3 )G d) 0
14) Tan@ Cosec’d — Tan@ is equal to
a) Sec 0 b) Cot2 o c)Sine d) Cot 0
‘ Part-B
Do any 10 sums: (Q No: 28 is compulisory) 10x2=20
15) IfA = {1, 3, 5) and B = {2, 3} then find n(A x B) and n(BxA).
: : ; -
16) Let f(x) = 2x + 5. If x # 0 then find M)—zﬂ
17) Let f(x) = x2-1. Find fof. '
18) Find the least number that is divisible by the first ten natural numbers.
19) Find the indicated terms whose n" term is given by a,=-(n2-4); a,anda,,
1
20) Find the sum 3 +1+ g + .v..00
i Y
21) Find the excluded value in the expression —3—;
22) Determine the nature of roots of the quadratic equation 9x2 - 24x + 16 = 0



Tsi1OM
23)

24)

25)
26)

27)
28)

- s
If AABC is similar to ADEF such that BC = 3cm, EF = 4cm and area of

triangle ABC = 54cm?. Find the area of ADEF . _
In AABC, D and E are points on the sides AB and AC respectively such that

DE || BC. In it if é% = éand AC = 15cm find AE.
Find the intercepts made by the line 4x - 9y + 36 = 0 on the coordinate axes.
Find the slope of a line joining the points (S,E) with the origin.

i£L0s0 Cosec@ + Coté
1-Cosé@ .

If13+23+ 33+, ... +K¥ =44100thenfind 1 +2+3+....+K

Prove that

Part-C

IOI. Answer any 10 questions. (Q.No: 42 is compulsory). ; 10x5=50

29)

30)

31)
32)

33)
34)
35)
36)

37)
38)

39)
40)

41)
42)

Let A = The set of all natural numbers less than 8

B = The set of all prime numbers less than 8

C = The set of even Prime number. Verify that (A "B)xC = (AxC)n (BxC)
Let f: A— B be a function defined by f(x) = %— I, where A ={2,4,6,10, 12}
B ={0, 1, 2, 4, 5, 9}. Represent f by ¢

i) Set of ordered pairs ii) a table

iii) An arrow diagram iv) agraph ?

If f(x) = 2x + 3, g(x) = 1 - 2x and h(x) = 3x. Prove that fo(goh) = (fog)oh

The sum of three consecutive terms that are in AP is 27 and their product is
288. Find the three terms. ‘ ' :

The sum of first n, 2n and 3n terms of an A.P are'Sl, S, and S, respectively.
Prove that S; = 3(S, - S,)

Find the sum to n terms of the series 7 + 77 + 777 + ......

Find the G.C.D of 6x3 -30x2 + 60x — 48 and 3x3 — 12x2 + 21x —-18

Find the values of m and n if the polynomial 36x* - 60x3+61x2 -mx + n is a
perfect square. :

State and demonstrate Basic proportionality theorem.

Find the area of the quadrilateral formed by the points (8, 6) (5, 11) (-5, 12)
and (-4, 3) . ) '

If the points A(2, 2) B(-2, -3) C(1, -3) and D(x, y) form a parallelogram then
find the value of x and-y. ‘

Find the equation of a straight line through the intersection of lines 7x + 3y =10,
5x -4y =1 and Parallel to the line 13x + 5y + 12 = 0.
It coser _ cos o

cosf

and Sing N, then Prove that (m2 + n2) Cos2 8 = n2.
Solve : pgx? - (p + q)2x+(p + q)2 =0

Part-D

1Iv. Answer" both the questions by choosing either of the alternatives. | 2x8=16

43)

44)

a) Construct a triangle similar to a given triangle PQR with its sides equal to

%of the corresponding sides of the triang[e PQR (scale factor % > 1)
(OR)
b) ‘Construct a AABC such that AB = 5.5cm |C =25° and the altitude from C to
AB is 4cm. : -
a) A bus is travelling at a uniform speed of 50 km/hr. Draw the distance -

time graph and hence find SWHhRUMPR .M. 2 Ram
i) the constant of variation

ii) how far will.it travel in 90 minutes? =V e e s s
iii) the time required to cover a distance of 300 km from the graph.

'b) (OR) Vallr~eo_ b2 22,55

Draw the graph of xy = 24, x, y > 0. Using the graph find, _
i) ywhenx =3and i) xwheny =6 Tenkar; D st.



QUARTERLY EXAMINATION - 2023

CLASS :10 MATHEMATICS : .

’_-T!ME : 3.00 ~ 2 o s o et

10.
11,

12.

13.

14.

16.
17.
18.
12

21,

MARXS - 100

.. PART-I

Note : I) Answer all the questions. il) Choose the mest appropriata answer from the

gtvenfounhcmaﬂvesaodwmmeowmm«aumemﬁngm.
MxL=14

The HCF of numbers of the form 2™ and 37 is

a)l b) 2 c) 32

Ifabgc ... are in G.P then 23, 25, 2C ....areim ...

a) Arithmetic progression  5) Geometric progressicr ¢J Arithmetic pragrassicn arr Geomet-

d} 2 gy 37

ric progression d) None cf these :

If {(2,8), (6, b)} represents an identify functicn then the yaiue of 2 art b 2rz respectively
a)(8,6) b) (8, 8} c} (6. & dj (6, &}
Iff(x) = 2x2 and g(x)= 1/3x then fogis.

3)3/23 b) 2/3x2 ¢ 2792 d; /62
The value of a and b if 4x* - 24x3 + 76x2 + ax + b is 2 perfect squars ars

a) 100, 120 b) 10, 12 <) -120, 100 d] 12, 1Q
If 3 Jx =9 then the value of x is ........ @) 3 B} S 18 &327

A tangent is perpendicuiar to the radius at the 2

a)Centre - b) Peint of contract < infinity d} charat
The straight line given by the quation x = L1l is

a) parallel to x axis b) parailel to y axis ¢) passing through the argin

d) passing through the peint (0,11)
If AABC is an isosceles triangle with / =90° and AC=5cm, then AB IS ... -

a)2.5cm BYSan c 18an d) sam

The slope of the line which is perpendicuiar to 2 line joning the geints{3,0) and (-§,8] is
ay-1 b1 g3 grs

If the given line y/2 = X - p is passess through the peint (4, 4] then the vaiue or Fis ...
ay -4 B) -6 _ ga@ g8

If (x-6) is the HCF of xZ - 2x - 24 and xZ2- kx - € then the vaiue of k is ...

a)3 B} 5 Q6 ¢ 8

If x = a tan@ and y = b secs then

a) y2/o2 - x%fa? = 1 b) xZ/aZyZbi =1

c)x2/a2 +y2fp? =1 d) x%/aZ - y2%/e? = @

Eudid’s divisicn lemma states that for pesitive integers 2 and b, thers axist unique ints-

gers g and rsx_xdrthata=bq+;;wﬁergrrrmst§tfsr’y

a)i<r<b bl@<r<b cld=<sr<by dJd<r<h
PART-IT ' i,

Note:AnsweramIquuesﬁons.QuestionNo.ZSiscnmpuhnq 1aX2=20

- Represent the function f = {(1, 2}, (2,2), (3.2), (4. 3}, (5 4)} through (i) an arrow diagram

(ii) a table form (iii} @ graph
Iff(x):Zx-k.g(x)=x+u25hewmatfcg=gcf=x. .
A= {1,3,5} B=1{2 3} then show thatn (A X B) =n(BXA)=n(A) Xn(B).
Find the greatest number that will divided 445 and 572 leaving remainders 4 and 5 respectivaly.
If3+k318 -k, 5k + 1 are in AP then find K.
Compute x, such that 10% = x (med 18
Find the exduded value of the expression x+10/8x .
Determine the guadretic equations, whese sum and
respectively. ~4— et

R : 10 Maths PAGE-1

product of roots are -5/3 and -4



23.
24.

25.
26.
27.

28.

29.

30.
31.

32.
33.
34,
35.
36;

'37.
38.

.39.

40.
41.

42,

43.

l44a8b 12 c.|6
If AABCis similarto A DEF such that BC = 3cm, EF = 4 cm and area of ABC = 54cm2 find
the area of A DEF. =T :

Find the square root of

If @ and B are the roots of x2 + 7x+10 = 0 find the value of g2 + 7.
Find the area of the triangle whose vertices are (-3,2) (-1, 1) and (1,2). .

1+cosf ° ’ ;
Prove that ,|—— = cosecd + cot@
1-cos@

Find the rational form of the numBer 0.6666

PART - III

Note: Answer any 10 questions. Question No.42 is compulsory. 10X 5 =50

2x+7 , x<-2

If the function f: R --->R is defined by f (x)='< x'=2 , —2x<3 e fing the values of
. : el 13x=2 , a3 ’

Find the HCF of 396, 504, 636. S :

LetA = {xe w/x <3} ,B = {xe N/1x <5} and C = {2,5} verify that

AX(BNC)=(AXB)n (AXC) ;

D-
i) f(4) ii) f(-2) iii) f (4) + 2f(1) iv) M

In an A.P the sum of first n terms is S{n(-"-/:? + 3n/2. Find the 17th term.
Discuss the nature of solutions of the following system of equation.
X+2y-2=5;Xx-y+2z=-2,-5x-4y +z =-11" :
In a G.P the 9th term 32805 and 6th term is 1215. Find the 12th term.
State and prove the Thales theorem. ’
Find the area of the quadrilateral formed by the points (9, 7), (6, 12) (-6,13) and (-5, 4)
Find the square root of x- 12x3 + 42x2 - 36x + 9. :
Without using pythagoras theorem show that the points (1,-4), (2, -3) and (4, -7) form a
right angled triangle. ) 10 : : 5
If cos@ +sing = ,f7 cosg. Prove that cosg - sing = J2sing .-
If f(x) = x -1, g(x) = 3x+ 1 and h (x) = x2 show that (fog) oh = fo (goh) .
A (-3,0) B (10,-2) and C (12, 3) are the vertices of AABC. Find the equation of the altitude "
through A and B. ‘ P Y
If the roots of the equation (c2-ab) x2 - 2 (a2-b) x + b2 - ac = 0 are real and equal. Prove
that either a=0 (or). a3+b3+c¢3 =3abc. :

: ‘ PART-1IV . i
Note : Answer all the questions. . - 2%X8=16
a) Construct a triangle similar to a given triangle ABC with its sides of the triangle ABC
(Scale factor 6/5 > 1) . (OR)

b) Draw a triangle ABC of base BC= 8'cm, /4 = 60° and the 'bisecto.r of s 4 meets BC at

" D such that BD = 6cm.

a) Draw the graph of xy = 24, X,y > 0. Using the graph find (i) y when x=3 and (ii) x when
y=6. * (OR) 5 3 .

b) Varshika draw 6 circles with different sizes. Draw a graph for the relationship between
the diameter and circumference (approximately related) of each circle as shown in the
table and use it to find the circumference of a circle when its diameter is 6 cm.
Diameter (x) cm ; 1 2 3 4 5
Circumference (y) cm 3.1 6.2 9.3 124 155

10 Maths PAGE-2
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10.

g g &

12:

13.

14.

16.

17— Determine whether the graph

Quarterly Examination - 2023
00 Hrs MATHEMATICS PAATEs S 200

0 R Register No.

Answer all of the following questions. 14x1=14
If there are 1024 relatiions from a $A= {1, 2, 3, 4, 5} to a set B, then the number of elements in B is

a)3 By2 c)4 d)8 .

if { (a, B), (6, b) }represents an identity function, then the value of a and b respectively ('wnn =~ 5&
ay(8,6) b)(8,8) c)(6,8) d){(6,6)

The sum of the exponents of the prime factors in the prime factorization of 1729 is
a)1 b)2 ¢y3 d)4

In an A.P,, the first term is 1 and the common difference is 4. How many terms of the A.P must be taken for their sum to
be equal to 1207

a)6 b)7 ¢8d)9

If (x — 6) is the HCF of x* — 2x — 24 and x* — kx — 6 then the value of k is

a)3 b)5 c)6 d)8

1");.1). = .'T

2

_ 256x%y*2"0 16 |x2z* | 16| y 16 |xz
The square root of —ZSxSyGZG is equal to a) B, yz b) <224 c)?? 5y

Afunction f: R — Rdefinebyf(x)=C, v x € Rcalled a...........
a) The identity function b) Quadratic function .€) Constant function d) Reciprocal function

AB _BC
DE FD
a) £LB=LE b)ZLA=4D eyZB=/D d) ZA=ZE

A man walks near a wall, such that the distance between him and the wall is 10 units. Consider the wall to be the y axis.
The path travelled by the man is

ayx=10 b)y=10 c)x=0 d)y=0

If in triangles ABC and EDF, then they will be similar, when

1 .
If slope of the line PQ is ﬁ then slope of the perpendikcular bisector of PQ is

= 1 /
a) V3 BI-43 o 3 90 iy
The point of intersection of 3x—y=4andx +y = 8is
a)(5,3) b)(2,4) ¢)13,5) d)(4.4)
tan® cosec?0 —tan® is equal to
a) secO b) cot?® c) sin .d)ycotd =
acotB + bcosecOd = p and bcotB + acosecH = q then p? — g?is equal to
a) a?—b? byb?—a? c)a?+b? d)b—-a

x2—24x + ......... is a perfect square, then the value () g is
a)64 b)16 o©)144 d)81
Answer any 10 questions. 28th question is a compulsory one. 10x2=20

= = [ (=2. 3), (<2, 4), (0, 3), (0, 4), (3, 3), (3, 4) } find Aand B.
P :_23;2 a {?f §; 4; a(nd % a Ez, 4? 6.8, 10y and R = { (1, 2), (2, 4), (3, 6), (4, 8) }. Show that R is a function and find its

domain, co-domain and range? ' ) .
given belkow functions. Given reason for your answers concerning each graph.

0 i) y

y AF

& Y
>

1
) <7 N x <_/

v

10 Mathematics - 1



ol = U x dthenfindaandb
*R 18-k 5k + 1arein AP then find K.
ne LCM of the following : 8x* y?, 48x°y*
_ 9x? + 81x
neduce the following rational expression to its lowerst form : ———x3 - 8xZ _9x

22. Determine the quadratic equations, whose sum and product of roots are -9,

in AABC, D and E are points on the sides AB and AC respectively such th E|BC;IfAD=8x-7,DB=5x~-3,
AE = 4x -3 and EC = 3x - 1, find the value of x. :

24. Prove that (cosect — sinB) (secO — cos0 ) (tan0 + cotd) = 1

25. Find the equation of a line whose inclination is 30° and making an intercept -3 on the y axis.

28, Find the area of the triangle formed by the points (i) (1, 1), (4, 6) and (-3, -5)

27. The line r passes through the points (-2, 2) and (5, 8) and the lines s passes through the points (-8, 7) and (-2, 0).

L 4

Is the line r perpendicular to s.
28 Find Kk if fof (K) = 5 where f(K) = 2K-1
Il Answer any 10 questions. 42™ question is the compulsory one.
20 fA={5.6},B={4,5,6),C={5,6,7) showthatAxA=(BxB) " (CxC)
30 LetA={1,2,3,4}and B={2, 5, 8, 11, 14} be two sets. Letf: A — B be a function given by f(x) = 3x — 1.
Represent this function
1) by arrow diagram i) in a table form iii) as a set of ordered pairs iv) in a graphical form
21 Consider the functions f(x), g(x), h(x) as given below, show that (fog) oh = fo(goh)
f(X)=x-1,g(x)=3x + 1, h(x) = x3
32. Find the HCF of 396, 504, 636
337 Find the sum of all natural numbers between 602 and 902 which are not divisible by 4.
34. Rekha has 15 square colour papers of size 10cm, 11cm, 12cm......, 24 cm. How much area can be decorated with these
colour papers.
35. Find the square root of the following polynomial by division method x* — 12x* + 42x2 — 36x + 9.

10x5=50

16x? —2x -3  8x2 +11x+3

3x%-2x-1 3x2-11x-4

37. Abus covers a distance of 90 km at a uniform speed. Had the speed been 15 km/hour more it would have taken 30
minutes less for the journey. Find the original speed of the bus.

38. State and prove Thales theorem.

39 Find the area of the quadrilateral whose vertices are at (-9, 0), (-8, 6), (-1, —2), (-6, —3)

40. Find the equation of the perpendicular bisector of the line joining the points A(—4, 2) and B(6, —4)

36. Find

: . sin? A —sin?B
41. Prove that tan®A —tan’B = cos? A cos2B

42. Find the sum of n terms of the series 5 + 55 + 555 + ..........
IV. Answer all the questions. 1x8=8

T 7
43. Construct a triangle similar to a given triangle PQR with its sides equal to 2 of the corresponding sides of the triangle

7
PQR (scale factor Y >1)
(OR)
Construct a APQR which the base PQ =4.5cm, ZR =35° and the median RG from R to PQ is 6cm.
44. Draw the graph of xy = 24, x, y > 0. Using the graph find i) x wheny = 6 ii)y when x = 3.

(OR) . .

Abus is travelling at a uniform speed of 50 km/hr. Draw the distance - time graph and hence find
i) the constant of variation

ii) how far will it travel in 90 minutes?

iii) the time required to cover a distance of 300 km from the graph.
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